PRIMITIVNI FUNKCE

Spoctéte nasledujici primitivni funkce.
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6. zlogz — z, v € (0,+00) 7. varctgx — log(l + 2?), z € R 8. Pokud a # 0 nebo
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15. Llog(z? — 2 +2) + farcthTﬁl,xeR 16.ﬁlogm§, r € (o0, —V1+2)
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arctg Qi”/tl, x € (—o0o,1)nebox € (1,+00)  19.2log
nebo = € (—4,—2) nebo z € (—2,+00) 20. f arctg (% tg at) —x 21. s tgte — S gl +
Llog(l + tg?x), z € (—7/2 + km,7/2 + k7)), k € Z 22. Ht% +2z, € (—7T/2,7r/2))

23. —3arctg(e?/%) — 2 log(e®/3 + 1) — 3log(e”/+ 1) +z, x € R 24.log|tgz| — S
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(0,7/2)+kr/2, k € Z 25.xlog’z—2xlog 2+ 2, x € (0,+00) 26.log(z2+x+1), reR
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